TET 2022 TA SGT Session-1 14.08.2022

APTET - Paper- 1A — 2022
CDP

Development =
1. f (maturity x growth)

2. f (maturity + growth)

3. f (maturity + learning)
4. f (maturity x learning)
QSO0 =

1 f(é@é%é X DBEKEO)
2 f(?b@‘é%sé + DEKE)
3. f(b@b%sé + @2;552650)
4 f(XJ@XJ%Seﬁ X @2;552650)

According to the feedback from parents the stage where
individual exhibits temper, tantrums
1. Infancy

2 Early Childhood
3. Late Childhood
4

Pre adolescence
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The precise direction of infant development

l.

From head to body parts, and from the parts
of the body to the center of the body

From the parts of the body to head and from
the center of the body to body parts

From head to heel and from the center

of the body to body parts

From head to center of the body and from
foot to body parts

B SO0 DY), PSS B

1.

BER) o0& ¥08 armre, ¥0U erres Sood
Qo ARTAIYRIRVE

3B arrren S006 850D, B S50 o0d
$88 armo

BER) So0& rrdInpo, 88 Solgo ok

$85 armo

BBR0) 008 T SIS $H8AH Fore $Hobk
¥85 armro

In Latin language ‘Persona’ means

1.
2.
3.
4.

Personality
Mask
Personal

Comprehensive
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Number of stages in Kohlberg moral development theory
5528 F8E T VoS0 ¥ HoPg

. 2
2. 3
3.6
4. 4

According to Erikson in which level ‘integrity’ appears
in the individual
1. Middle Adulthood

2. Late Adulthood

3. Adulthood

4. Early Adulthood
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The statement ‘The Internal energy which can see the
interrelations intelligence’ is defined by

1. Spearman
2. Terman

3. Stern

4. Edward
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If an 8 year old Snehitha shows the ability of a 11year old, then
her Intelligence Quotient type is
1. Genius

2. Very Superior
3. Below Average Intelligence
4. Average Intelligence
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10.

Correct order for stages in creativity process

1. Preparatory, Incubation, Illumination, Verification
2. Preparatory, [llumination, Incubation, Verification
3. Incubation, Preparatory, Illumination, Verification
4, Incubation, Preparatory, Verification, [llumination
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According to Hurlock ‘Middle age’ is
1. 30 - 60 years

2. 20 - 60 years

3. 18 - 60 years

4. 40 - 60 years
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The following is not a Negative Emotion

l. Believe

2. Shyness

3. Anxiety

4. Fatigue
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The stage in which learning occurs rapidly
1. Intermediate stage

2. Fluctuating stage

3. Plateau stage

4. Initial Spurt stage
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14.

The memory in remembering bus seat Number

l.

2
3.
4

Active
Logical
Long term

Short term
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“Socio — Cultural theory” was introduced by
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Erik Erikson
Thorndike
Vygotsky

Skinner
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16.

In the third stage of Pavlov experiment the dog was salivating
by the sound of the bell, here secretion of saliva belongs to
1. Natural Response (UCR)

2. Conditioned Response (CR)
3. Conditioning Stimuli (CS)
4. Natural Stimuli (UCS)
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Somu wants to eat mango, but he is afraid of falling if he
climbs the tree. Here the conflict of somu is
1. Approach — Avoidance Conflict

2. Dual Approach — Avoidance Conflict
3. Avoidance — Avoidance Conflict
4. Approach — Approach Conflict
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“Raju kicked the door due to fail in examination”. This defense
mechanism is called

1. Sublimation
2. Displacement
3. Fantasy

4. Projection
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One of the following is a primary need
1. Water

2. House

3. Education

4. Cloth
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‘The feeling that things which we are seeing now, are already
seen’ is called
1. Halo effect

2. Deja Vu

3. Zygornic Effect

4. Repression

PR WP A KS0S” I E” ST @ADOITRY’
QU WS,

1L 58 (Parso

2 @3~ N))

3.  Br)S (perso

4 [aINSINTe)

Author of the book “Centuries of Childhood”
1. Philippe Aries

2. Macmillan

3. John Locke

4. Rodke
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A man can drive well. But this skill has no effect in computer
learning. This statement relates to

1. Positive Transfer

2. Negative Transfer
3. Zero Transfer

4. Bilateral Transfer
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To keep children interested in lesson, the teacher should not
Encourage discussion

1.

2. Ask to keep silence

3. Ask questions

4. Conduct group discussion
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One of the following is not related to ‘5E’ learning strategies

1. Engage

2. Explore

3. Evaluate

4. Exercise
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Learning problem in reading and expressing numbers
Dyscalculia

Dysphasia
Aphasia
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‘Social Learning Theory’ was proposed by
Piaget

Vygotsky
Carl Rogers
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An example of Meta — Cognitive competency
1. Problem solving

2. Self - reflection

3. Critical thinking

4. Co-operation
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One of the following is not related to ‘Unifactor theory’
1. Gardiner

2. Binnet

3. Terman

4. Stern
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The following is not in Nadu — Nedu programme
of Andhra Pradesh
1. Toilets

2. Text books
3. Green chalk boards
4. Drinking water supply
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The following is the ICT based teaching

1. Writing an essay

2. Reflection on Journals

3. Answering short questions
4. Power point presentation
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The group that receives experimental treatment
1. Control group

2. Experimental group

3. Single group

4. Rotation group
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Telugu Methodology Paper - 1
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64.

English Paper - IA

Measles a painful disease.

Choose correct verb that fits the blank.

1
2
3.
4

have
were
are

1S

I think he 1s a German,

The correct question tag for the above sentence is

1
2
3.
4

do I?
don’t [?
isn’t he?

1s he?

The headmaster said to swami, “Why didn’t you come

’to school yesterday?

The underlined part can be written in indirect speech as

A A

he didn’t come
you didn’t come
you had come

he hadn’t come

Choose the sentence that describes a just completed action.

1
2.
3.
4

They have had fever.
She has finished her home work.
He was called by his mother.

I have a finished project with me.



65.

66.

67.

68.

Choose the word that can be used with both singular
and plural verbs.

l.

2.
3.
4

path
day
roof

team

Intensive cultivation (A) / as a result of introduction of high
yielding varieties (B) / on the mid 1960°s required (C) / higher
energy inputs and better management practices (D).

Choose the part that has a grammatical error.

1
2.
3.
4

S > W O

Choose the most polite request from the following.

1 Will you please stop talking?

2. Would you please give some water?
3. Could you please help me?

4 May you please help me?

A helicopter hovered our house.

Choose the word that fits the blank.

1
2.
3.
4

above
below
under

in
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72.

He saw the police and ran away.

Choose the simple sentence for this.

1
2.
3.
4

Seeing the police, he ran away.
When he saw the police, he ran away.
He saw the police to run away.

He ran away to see the police.

He was refused entry to the country
return to India.

Choose the suitable linker that fits the blank.

1
2.
3.
4

Instead
Though
Although

Towards

I would abolish examinations

Choose the correct ‘if clause’ to complete sentence.

1 if I had wished

2 if [ want

3. if [ am the Prime Minister
4 if I were the Prime Minister
The children

Choose the correct passive form of the verb to fill in the blank.

1
2.
3.
4

were been
were liked
were seen

arc

he was forced to

playing football in the park this morning.
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Choose the word that is similar in meaning to

the underlined word.

His mother made a futile attempt to get up.

1
2
3.
4

eatable
limited
unsuccessful

empty

Choose the antonym of the word ‘coward’.

1
2.
3.
4

fearless
foolish
proud

unarmed

Your perfume has a wonderful

Choose the right word that fits the blank.

1
2
3.
4

I met

sent
scent
cent

Scene

lawyer yesterday. lawyer was

famous in the city

1
2.
3.
4

the, A
an , The
a, An
a, The
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Choose the grammatically correct question.
1 Could you tell me where is she?
2 Could you tell me where she is?
3. Could you tell where she is me?
4

Could you tell where me she is?

Choose the correct statement with correct capitalization.

1. Sarojini Naidu was an Indian political leader born on
February 13, 1879 in Hyderabad, India

2. Sarojini naidu was an indian political leader born on
February 13, 1879 in Hyderabad, India

3. Sarojini Naidu was an Indian political leader born on
february 13, 1879 in Hyderabad, India.

4. Sarojini Naidu was an Indian Political Leader born on

february 13, 1879 in Hyderabad, India

Choose the correct ending of the body of the letter
in a formal letter.

1 with best wishes
2 with love

3. Thanking you
4

Convey my best regards to your parents.

Choose the number of syllables of the word “principal’.
1 two
2 four
3. one
4

three
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Choose the correct spelling of the past form
of the verb ‘spread’.

1 spreaded
2 spreded
3. spread
4

spraed

Choose the word with a prefix.

1 farmer

2 dischage
3. history
4

operation

Read the following passage.

Too much homework is not helpful, and can be counter
productive. Excessive amounts of time spent on completing
homework can take away the kids social life, family time, and
it limits their participation in sports and other activities.

This passage talks about

1 the importance of excessive amount of homework
2 how too much homework is helpful

3. the negative impact of too much homework

4

the importance of home work in school life
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Read the following passage.

Too much homework is not helpful, and can be counter
productive. Excessive amounts of time spent on completing
homework can take away the kids social life, family time, and
it limits their participation in sports and other activities.

This passage recommends

1. to give too much homework

2. not to give any homework

3. to reduce social life of students
4.

to restrict the amount of homework

Chaucer belonged to

1 the U.S.S.R

2. Oxford University

3. Middle English period
4 Indian English period

In constructivism, the teacher

1 dominates the learning process
2 acts as a facilitator

3. behaves like a headmaster

4 punishes every child daily

Choose the word that does not indicate the reading technique.
1 skimming

2 scanning

3. intensive reading

4

regression
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The following belongs to pictorial communication.

1. a poster
2. a letter
3. a thesis

4. a dialogue

Structural approach is known as
1 Hornsby approach

2 Fries approach

3. Lado approach

4 S — O — S approach

The words which carry the main meaning of
the sentence are called

1. antonyms
2. content words
3. synonyms

4. homonyms
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APTET - Paper- I — 2022
Mathematics

In a number line the number of negative integers on the left

side of ‘0’ is
1. 10

2. 1

3. 100

4 infinite
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The following number is not a factor of 68
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If a=§+§ and b=l—i thena +b=
9 9 12 12
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If the diagonals of a rhombus are 48cm. and 20cm. then
perimeter of the rhombus is

1. 100 cm.
2. 102 cm.
3. 104 cm.
4. 108 cm.

2.5 ¥ zﬁeﬁ)do&)&oé’s STo FEHoo 48 20.90., 20 20.%.
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1. 100 20.2.
2. 102 2o0.2v.
3. 104 o0.2.
4. 108 0.2.



Standard measure to measure liquids is

1. meter

2. liter

3. kilogram
4. millimeter

(BP0 §TentHedd (FPsreds STods

L e

2. dom

3. &S%rsw
4. Y bed

OA can be read as

1 line segment OA

2 straight line OA

3. ray OA

4 angle OA
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OA 3509
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I[f2A=3B=4CthenA:B:C=
2A=3B=4Ceond8 A:B:C=

1
2.
3.
4

2:3:4
3:4:6
4:3:2
6:4:3

If 2" = 64 then 2™ value
2" = 64 9003 2™ JenS

1
2.
3.
4

o A~ N O

In two concentric circles the radius of outer circle is R, inner
circle radius is » and width is W, then A = m(R+r)W represents

1.
2.
3.
4.

area of semicircular
area of the circle
area of the ring

area of sphere
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100. Value of (18)’

(18)° Dexnss
1 4834
2. 5832
3. 6523
4 5382

101. The average expenditure cost of four members is Rs. 2800 then
the average expenditure cost of 3 members in rupees

Se0KI ée;ioage» K0 £¢2002°08 JOE DKES a:do‘)
8. 2800 9008 3 éeﬁose:o Ko 58002008 IO DKES

PE) ErraHes®
1 2100
2. 2600
3. 2500
4 2200

102. If2x + 1 =10 then x value

2x + 1 =109008 x 03

[\ 9
ol B0 e



103. Solvetheequation£—£+£+3—x=l
2 5 5 10 5
i—i+£+3—x=l é?b§6m‘°:‘0& NTATSIR IO
2 5 5 10 5
1. X =
2. x=2
3. X =
4. x=10

104. The number of primes upto 100
100 I85> Ko (PEP805°e Sog

1 23
2. 24
3. 25
4 26

-15 .
105. Multiplicative inverse of the number 1—15 1s

~1
1—15 BooB). 1658 IS 5030

11
15
15
11
-11
15
-15
11



106. If compound ratio of 7 : 5 and 8 : x is 84:60 then x =
715358050 81 x @ 2350¥F A& 84:60 9000S x =

0 9 N

1
2.
3.
4

107. In AABC one angle is 40°, if other two angles are equal then
the each of angle is

AABC S° 2.5 €30 40° 508050 ADS 3o Elemren 05750
@oS ©oid (PO §%0

l. 50°
2. 60°
3. 70°
4. 80°

108. Find the surface area of a cuboid whose length, breadth and
height are 15cm, 12cm and 10cm respectively (in cm?)

2P 15 0.2., Seny 12 0.0, A8 10 0.20. Fodenn
Ko ég»;ms;saa ¥y, VOFYSO JTeg0 (5.20%.08°%)

1. 900
2. 500
3. 900
4. 500



109. By selling a DVD Player for the price Rs. 2800 he got 12%
profit. So, what is the cost price of DVD. (in rupees)

2.8 ;s§§ &.2.8. 'fc%o‘iogi) 8. 2800 e )ko oo 12%
o) FOBS. WOnI &) I (S>> aHos?)

1. 2400
2. 2500
3. 2600
4. 22000

110. Mode of 10, 12, 11, 10, 15, 20, 19, 21, 11,9, 10 is
10,12, 11, 10, 15, 20, 19, 21, 11, 9, 10 © erS0¥s0

1 10
2. 11
3. 12
4 9

111. A water fountain is in circular shaped whose radius is 10m.
Its inner portion of radius 3m. is arranged for fountain
and remaining part is cemented then the area of that
cemented part (in m’)

10 2. GZ0 Ko TS T8 FoBS &790 FErgIn
3 . Ko arel) FOBIETH TERGS0. AT 2KS08
B00E5 B, B0 BS Ko FFego (S.0.087)

1. 480
2. 286
3. 360
4. 386



112.

113.

114.

What should be taken away from 3x* — 4y* + 5xy + 20 to get
2 2
—x"—y +6xy+20

—x =)'+ 6xy + 20 FocHes> 3xF — 47 + Sxy + 20 508
A BRICHIBS

1 4x* — 3y + xy
2 4x* = 3y° —xy
3. 4%+ 3y” —xy
4 4%+ 3y — xy

A ‘Ray’ is having end points

1. 0

2. 1

3. 2

4. many

28 $5I0SEH D38 DothIhew 5o
1 0

2 1

3. 2

4 9350

The vertices of a triangle pyramid is
Bebersd DEWE ook, 3o voy

1.

AN DN B~ W

2.
3.
4



Maths Methodology

115. ‘Introductio Arithmetica’ was written by
1 Nichomacus
2 Padmanabha
3. Herodotus

4 Hou

‘QO(IEERDr 9TIEIT SuSowes
[>¥] (=]

1. ISR
2. ‘Jaci&me;j
3. oS&OD
4, 3°

116. At this stage priority will be given to structures which
transforms arithmetic to algebra

1. Primary level

2. Elementary level
3. High School level
4

Under graduate level

GOSKEIB0 o0& DmNe3EeIY DBSYS 0T Ao° e
Be $IS” (FErIgSAD

L (6% Fow
JOI0erd igoao
é@é JPoo

(]

- W N

905 W@gdﬁoeg %ooo



117. The method helps to generalize ‘Sun raises in the east’

1. Inductive method
2. Deductive method
3. Inquiry method

4. Solution method

{

BT STD)S SEONTE’ 0 FTEITO0ITIS
956630)3 DEE
(o]
L eslS D88
(o]
DRSS DS
[ev]

@303&83 DEB
[on]

L

90308 B8

118. Father of Statistics
1. Sri Ronald A. Fisher

2. Ptolemy
3. Herodotus
4. Aryabhatta

énoaa§§ TR DFPRTVE
1. & 6°5°e§ . DAS
PSR

rSER D

L

@652;5%33



119. Number of formative assessment in the academic year

2.8 waagboéé(\)doé’s DSOS IOV iJ"U"&é?)S SOgOSTR

2603)5

1 8
2 6
3 4
4 2

120. This is not related to Ramanujan Mathematical works
1. Goldbach’s conjecture
2. Mac thita function
3. Highly composite number
4. Methods of Planatory calculations
TPRTE0ERE HDODHOE KedeS 90¥Sn

1. Keegzrg §OZ‘3§J5_
58 der HoES

2633533:%)95 DOAE 6033500

- W N

K Keass Hesehren
(o]



APTET — Paper-1 A — 2022
EVS

121. “World Water Day” is on

1 22" March
2 20™ March
3. 22™ April
4 20™ April

P08 Be I S)T0”
L 22579)

2. 20 579

3. 22 QoS

4. 20 QoS

122. Seeds dispersed through bursting mechanism
1. Mustard
2. Neem
3. Cotton
4. Guava

DO TRC° T§ BB IFToen

1. (SN
2. 3
3. 7]
4. ESANG



123.

124.

Vehicle used for non-travel purpose
1. Bus

2. Car
3. Bike
4. Fire engine

(DSSTHESE 9FITOK &IBIACL IS0

1. 23:(»‘3

2. Spleb)

3. Al

4. eai}));srb§ FOT°S0

Amoeba reproduces through

1. Binary fission

2. Budding
3. Fragmentation
4. Regeneration

@S’ BHK (PS5

1. @5037‘.’)&@
2. &dsso
3. So¥ oK
4. DIHE)Y



125.  One of the following is not an aquatic plant
1. Duck weed

2 Tape grass

3. Water hyacinth

4. Cactus

52 (308 TS &3 Jok), 5B
1. &5d&

2. B3R

3. DOBIEE),

4. @3‘55"&5;533&53

126. Every post office has given a number at Nationwide.
This is called

1. STD code
2. UID code
3. Panchayat code
4. PIN code

SETGOM (38 FYL PHRES VORFL FT° DT
1. ID.8.8. 8°&

Sw.0.8. 8&

Dowrond §°&

» §&

L



127.  Unit of speed in S.I System

128.

1.
2.
3.
4.

km. / min.
m. / min.
km. / hr.

m. / sec.

S19E8E° IS (pSrersn

.|_\

e N

8.20. / d1Ho
. / Ao
8.2. / Xo&
. / DES

Odometer is an instrument used for measuring

1.
2.
3.
4.

Speed
Distance
Time

Power

B.EP6T 93 HOEBO BA FoSeeAE EIBTATS

1.

L

3IKo
&3o°80

S°©0

%



129. The following liquid is a bad conductor

1. Drinking water
2. Lemon juice
3. Vinegar

4. Distilled water
308 |TSerod” eg HyEIrso

L &K
2. PONS) &cmo
3. 3K

4, _50036552360

130. Suicidal bags of the cell are
1. Lysosomes
2. Mitochondria
3. Chloroplast
4. Golgi complex
%e2085"Q {00 I Vowoen

1. S¥S S
e 0| Gase
50800

L T

mg ‘oo%éo



131.

132.

Conversion of water vapour into water is called

1. Condensation
2. Evaporation
3. Vapourisation
4. Precipitation

D 88 AHA° S0 (PG o 90835
1L Jodsseo

RSSO

3BT STEEO

L

9SS0

The water storing desert plant is

1. Cactus
2. Neem
3. Tridax

4. Eichhornia
RO IATHHD 0 Fo),

1. (253° &ésinc‘sa
%D
By

L

OSIEY),



APTET — Paper-1 A — 2022
Social Studies

2

133. In maps these are indicated in ‘Light red colour

1. Hills

2. Cultivated land
3. Waste land

4. Plateau

$eroS” DAY DS Ay BoKy' S° BIAJSH

1. §Po&en

2. ;553531’0‘53 ALMD
3. 2008 ZI°
4. DB

134. Evergreen forest regions are extended in India
1. Kerala, Andaman Nicobor Islands
2 Kerala, Telangana
3. Andhra Pradesh, Telangana
4 Andhra Pradesh, Madhya Pradesh

TESTIOS HSSTOS efergen HO0D &) [Frosrw
1. B8¥, ©00E5re I8 e

2. S5¥%, oonres

3.  =oFpas, oo

4. SoFRBS, EHHBT



135.

136.

137.

Pana — a silver coin, which was followed as standard currency
of this dynasty

1. Haryanka
2. Maurya
3. Gupta

4. Nanda

Jeze 93 0& THI0 DB 2008° SrHAS® Soad

1. ZJ°G°§O§
2. 353"65

3. Koen
4. Nelablod
Expand A.T.M.

AT.M. 38055

1 Automated Teller Machine
2 Any Time Money

3. Automatic Time Machine
4

Advanced Time Machine

The ‘Grama Sabha’ consists of

1. All the people in a village

2. All the voters in a village

3. Sarpanch and Ward member only
4. Ward members only

s0e’S® Debgeom A Goerh

L (oS (Heeotsr

2. (008 L6 eols

3. R5)0w B0 I8y vavgen
4. I8 0Bbgeo SR



138. In our State the system of Grama Sachivalayam was started on
. October 2", 2019
2. October 2™, 2018
3. October 2™, 2020
4. October 2", 2021
3 oPoS” P AT S5IY (T E0DOBESE

L 2019 o525 25 86
2. 2018 »§25 25 86
3. 2020 o525 25 86
4. 2021 o§25 25 86

139. The smallest country in the World
1. Monaco
2. Vatican city
3 Nauru
4. Tuvalu

(5905083 8D B¥o

1. 0578

2. OES SKS0
3. I

4. SISV



140. The Gandhi of South Africa
1. Wangari Maathai

N

Julius Nyerere

3. Kensaro Wiwa

4. Nelson Mandela

SEETPS ORI DETODS I

1. SOKB ST
27000 IO
33356 A

L

3@35 Soozer

141. Name the festival celebrated in Uttaraandhra to worship
goddess “Paidithalli”

l. Medaram Jatara

2. Sirimanu Utsavam

3. Shobha Yatra

4. Rottela Panduga

PESY” 030 TOV SOBIT, GETOES” BHYHS
DOEOK

1. B0 2SS
FIoINbLNG! éeﬁgéo
Serease|es

L

87 DokoK
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142.

143.

Separation of Religion from government is called as
1. Communism

2. Secularism

3. Religious

4. Non-Religious

(D20 0D D) SV JO° 0L

1. 3";535;5"650

2. S°8Ee50

3. 300

4. 2 (FHcno B

The cooperative puppet manufacturing center is located in
1. Srikakulam

2. Visakhapatnam

3. Ananthapuram

4. Kadapa

So(FRTE 0Red” rss Sl o $asrd Sowo
) Sod.

L. @m0

2. ;’er)éeso)o

3. QIS0LYTO

4. 5D



144. Komuram Bheem revolted in the region of

1. Khammam
2. Adilabad

3. Karimnagar
4. Warangal

£5050 Ho B (FoB0S” BTK2E0 VI,

1. 33353&0

2.  eshoeerd
3. 580558
4. S50KS

145. The competency developed in preparation of “Herbarium” is

1. Application

2. Skill
3. Understanding
4. Analysis

'?J%Q@OISJSJ’ SBATEHIDA30e08° SARNS 2038 3850

1. RNIesotel
2. SDENO
3. (ONTOR LN
4. ;’)E)le'a



146. In Continuous Comprehensive Evaluation “Continuous” means

1. Assessing the individual frequently at prescribed
intervals
2. Conducting time wise tests continuously

Evaluating one subject included in teaching — learning
process

4. Evaluating the identified factors related to students
growth and development during learning process

NEOSY, DI SreegoES0 (CCE) §° “D50¢550” 938

1. ABoBeES DoPSTOS® SO 3580 Sorergosso
oS,

2. O35 5570 HOZOMH DA S0 JB0SE0
Q0G0

3. SETERS BEAS” FormRIIRsS a¥ DA0I0D
SxergoEH0 B0

4, Agd DS, AP AE D000 fbé%oi’bss
LOTOM LIS wd:i{)eﬁo:g)@o)é Sermg08S0
DAHe0



147.

148.

“Something that has a direct impact on the immediate
surroundings of any object or a person is called as
environment” stated by

1. Gilbert

2. M.K. Gandhi

3. Einstein

4. James B. Conant

"8 S99 B 558 @Y, SFed HBROUD (DS (PerSo
S0 DO°GIEE0 @OETLD” @ DEY KT

L Ada§

2. dD3. rod

3. 335‘335

4. B D FTod

Having faith and respect on law, paying taxes in time are

1. Creative values

2. Cultural values

3. Moral values

4. Intellectual values

SETOP ST, TETY) EOA 00, D3P V500"
BYoTEO &I

1. QYIS S RISVINIGH

O )BE Jensen

[IBE Jense
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149. The chart useful to teach historical aspect, the succession of
kings etc. is

l. Flow chart

2. Tree chart

3. Processing chart
4. Dynastic chart

B 0T, T°ere POFOI® VEOITH BOANBEAEDH
GIABCKIT T

1 (SRS eS

2. ;ng o8

3. SESNelacayet!
4. F0TSP T°8y

150. Social Studies curriculum in Primary Education is designed in
this approach

1. Integrated approach
2. Topical approach
3. Spiral approach

4. Unit approach

D EWE FBF0S FoWETR S0H5OD Bs HEBS’
ER0DDE0R

1L SFoSE® &IND00
2. ©0¥08 &HKK0
3. SETSE GHR00

4. O30S &R0
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